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2.
General Instructions :
1. Candidate must write his/her Roll Number on the first page of the Question Paper.
2. Please check the Question Paper to verify that the total pages and total number of questions contained in

the Question Paper are the same as those printed on the top of the first page. Also check to see that the
questions are in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the
specified places will lead to disqualification of the candidate.

4. Write your Question Paper Code No. 58 / 0SS / 1, Set - C on the Answer-Book.

5. (@  TheQuestion Paper is in English/Hindi medium only. However, if you wish, you can answer in any
one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati, Konkani,
Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the Answer-Book.
(b)  If you choose to write the answer in the language other than Hindi and English, the responsibility
for any errors/mistakes in understanding the question will be yours only.
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BIOLOGY (Theory)
Sirater (frgia)
(314)

Time : 3 Hours] [Maximum Marks : 80
s ;3 9] [quties : 80
Note:i)  This Question Paper consists of 30 questions.

ii)
iii)
iv)

All the questions are compulsory.

Marks for each question have been indicated against it.

Each question from Q. Nos. 1 to 8 has four alternatives - (A), (B), (C) and (D), out
of which one is the most appropriate. Choose the correct answer among the four
alternatives and write it in your answer-book against the number of the
question. No separate time is allotted for attempting multiple choice questions.

T ugA-ux 4 30 weA F |

At e eifE |

T A o 3ith 3Tk HTHA 913 T ¢ |

TES W9 sHHTeh 1 | 8 Ak, Tk WA & 9R Aehfeuss 3w (A), (B), (C) o (D) a3 ma & e @ v vt
a1 waities 3fod 2 | OR Senfeus sl # & wE S g a8 SiuHt STR-gftaent H§ W9 shHieh o | el
s Tt % for ererm & v 7 foren s |

1. One of the macronutrient given below plays a key role in food production and

normal growth of the plant. [1]
A) Boron
B)  Copper
C) Carbon
D)  Uranium
i feu U gEq WweRt # | RA-T1 GNE WY F W e R A gfg # TgE i
freman 22
A) ERA
B) e
C) @A
D) gfm
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[1]

[1]

2. Which of the following enzyme is called "Joining Enzyme"?
A)  Plasmids
B) DNAligase
C) Protease
D) Amylase
freferfam UEe & & FrE GaER @ i GeER” W §7
A) e
B) DNA @E=
C) sifetw
D) umEew
3. Identify the following figure :
A) Sac B) Leaf
C) Embryo D) Seed Coat
i fag o o 8t g
A) =W B) wuit
C) ym D) &=
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4. Which chemical is involved in the transmission of nerve impulse across a synapse.|[1]
A)  melanin
B) NaCl

C)  Acetylcholine

D) Oxytocin

siiem (BTEiH) 3% U AR — ST Y SrETRE e i il R g
N

B) NaCl

C) Uehfecmieim

D) seiaRm

5. Withreference to organisation of life, Rana tigrina comes into which category? [1]
A)  Community
B)  Species
C) Organism
D) Biome

S - s i g & T R few i & siwa s 37

A)  TEE
B) @i
C) s
D) «=m
SH/0551-314-Cl G216 T

Downl oaded From : http://cbseportal .com Courtesy : N OS


http://cbseportal.com/
http://cbseportal.com/

Downl oaded From : http://cbseportal.com

6. Which of the following bacteria causes cholera? [1]

A)  Vibrio cholerae

B)  Rhizobium
C) Azotobacter

D) Lactobacillus

freaferftaa ® @ form Sframuy & wrRoT g A T g e

A)  fafen wed
B) et
C) R
D) e

7. When the genetically engineered bacteria clean up pollutants from the environment,
they are called . [1]

A)  transgenic animals
B)  Dbio-diesel

C) bio-gas

D)  bio-remediation

HATATITEH &Y | U= A3t T IGUehi ol Faterur & Fabma foran St 8 @@ 3% hed @

A)  URsirE ot
B) & e
C) S (IEH)
D) <& 9w |
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8. Name the complex tissue which function as a unit to conduct water and minerals
upward from root to leaves. [1]

A)  Phloem

B)  Parenchyma
C) Xylum

D)  Sclerenchyma

39 A FHdeh Thl AT FATST A TS W ol FW Teh A T WA hl TG i Teh JohT3 oh €U

o Tl e 2l
A) e
B) w5
C) g™
D) TEsasw
9. What are the factors responsible for population explosion in India? [2]

URA | TG — ferehie o @i &Rt 8 2

10. Define the term inflorescence. What are the major types of inflorescence in flowering
plants. [2]

“geashn’” vfiden Y aRwren forfag | gedt diel ® qeasen R & g fore arht ST 22
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11. Answer the following : [2]

a)

Which phase of growth curve shows rapid and maximum growth?

b)  What is the term used for inducing early flowering in plants at low temperature?

c)  Name the specially designed equipment used to measure the rate of growth of
shoot length of plants.

d)  What is the hypothetical plant hormone which is responsible for initiation of
flowering in plants?

ffefeTRaa & ST difTe

a)  afig w3 S i si s afe A 37

b) e i e AR W e qe AR e 3 T - v s e s 27

C)  UIEi T IRIE hl I W dieg hl HIUA o To10 9 &Y | TR foR2 7T SUShIUT 1 ATH &S |

d) e qem o R ¥ v aReeT T e w7

12. Write any four advantages of Bio-diesel. [2]

AT — AT o HIg IR ATH Tq1S |

13. Where does spinal cord is located in human beings. Mention its main function. [2]

AT | Bt gl Fedd gt ¢ | Heds] i @ e samge |

14. Give reasons : [2]
a)  Habitat is called an address of the organism.
b)  Fins are an adaptations of fish to aquatic life.
THRUT TSN :
a)  Sia ok ITTATE o UHTATE FAl hEd @ ?
b) el Sie % T U@ o % TR B ¢ |
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15.

16.

17.

18.

What is the importance of balanced diet? Reason out the special diet recommendation
to pregnant and lactating women? [2]

HfoTd STER T Wged AATST | THIGET 3R Frergme afgetadi « forg fafete smer o o stravas
27

Give an example for each of the following : [2]
a)  Aerobic bacteria which fixes nitrogen

b)  Anaerobic bacteria which fixes nitrogen

c)  Cyanobacteria which fixes nitrogen

d)  Photosynthetic non-sulphur bacteria which fixes nitrogen

A3 o feorlieror ® wgre freafeiRaa osita gensiial w1 ueh-ueh Sergtun 4 :

a) TS S{rem]

b)  ETEEE StaT]

c)  wEHNam]

d) YIRS TR Aew Siam]

Draw a neat diagram of human lung and label the Larynx and trachea parts : [2]

T & RSl Sl Ueh Taes ST a-TSU den 3uH freferRaa wmn Yifera it | e vat vameme |

A person has protruding eyes, stunted growth, retarded mental growth, delayed
puberty and low metabolite rate. [2]

a)  Whatis this condition?

b)  How to prevent it?

Teh STk (feTRad foerrt @ difed 8 :-

- i a3l gl

- Ha5g _{PE

e

- Tcfem demmeren

- U - R =

a) =@ feufa o = am e s @ e

b) =@ feufa | fra weR s i TR 22
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19. Observe the diagrams and answer the following : 12]

a)  Are these type of stomata found in monocots or dicots?

b)  Mention their main function.

F= fau e smEi it qRam SR Frfctiaa weAl o SR i

a)  TH WehR oh {81 UehailoToaN Gtel T TG AT ¢ | 31eran feefiorosh dieii @

b) R @ T S |

20. How is the phenotypic ratio of F,-generation in dihybrid cross is different from
monohybrid cross? [2]

fogeRt satel H FFafd o1 Siunied S1gurd UeheeRt shid @ ol fir g 27
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21. Give reasons : [2+2=4]
a)  Sino-atrial node is called pacemaker of the heart.
b)  Person with blood group 'O' called Universal donor.
THRUT FATSU :
a) T aferg (Sino-atrial) Tifer <t ge= 1 UomeRt o1 hgd 27
b) 'O wftR Tt aet Afh Tt AEAIH TS F FHad @ ?

22. Differentiate between "vascular cambium" and " cork cambium". (4]

ot R 3 ek R # s A |

23. A man with 'A' blood group married a woman with blood group 'B'. Work out a
cross to show possible blood groups that can be expected in their off springs. [4]

AT A 3R B 6 o oot forelt gew 31 &t © Scas afd o @HTE T ST bl g9Tie STl U
ShiE SATSU |

24.Write short notes on :- [2+2=4]
a)  Mode of nutrition in Yeast.

b)  Sexual recombination in Bacteria.
frataRaa w wfew v fafew :
a) e &t diwor - fafy

by < e
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25. Draw a schematic diagram of "Carbon Cycle". [4]

TS — 5k T Ueh AISTTag TG SATSU |

26. "Genetic code is universal and common for almost all organisms on earth".
Explain. (4]

‘gorlt W At S 1 ATV i TAUT T 3R A& g ¢l s Hif |

27.a)  Whatis "Criss - Cross inheritance"? [1]
b)  Whyisred - green colour blindness more common in males than females?[2]
c)  Howis colour blindness inherited? Explain with the help of flow chart.  [3]
a)  Torm ShiG S9TRIT <Pt Bt 8 2
b)  ee—gh s R g H qEe | ot i TR ST 27
c)  autea it FumTT fFE TR Bt 2 ? Uk TaTg ATE <hl Tl @ SATEHT il |

28.a)  Name the scientist who discovered C, cycle. [1]
b)  Draw a neat schematic diagram of C, cycle in plants. [3]
¢)  Justify your answer why C, plants are most efficient than C, plants? [2]

a)  C, =0k T HW ATt ATk H1 T AT |
b) el # C, =k ol Tk Tes AleHTeg AN s |
c)  C,diei <t smaen C, didr ot stferes IR g §1 37 3w <t gfe g |

29.a)  Write any four salient features of Class-Aves with two examples. [4]

b)  Define "Alteration of generation", with one example. [2]

a) 3 IETEXUT A gU VA i % <hd ww fafdre weron s |
b) U IR I T WG — THwor” H g feaRem |
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30. a)  Whatis somatic gene therapy? [1]
b)  List out the steps involved in Ex-vivo gene therapy. [4]
c)  Name two genetic disorders can be treated by this technique. [1]

a)  ohITdeR S — JUER o1 gt @ 2
b) wEdE (Ex-Vivo) i 3u=r 4 fifga faftm wron =t gxieg fifsw |
C) 39 AHh-Ieh W SUTNA al AT el i STt |

£ o0 om0
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